e) 27 ÷ 8 = 3.375

5 marks

## Rounding decimals

			2.90			
1.	Round these r	numbers to 1 de	ecimal place	,		
	a) 6.42		place, lo	To round to 1 decimal place, look at the		
	<b>b)</b> 4.68				2 decimal	. To round to places, look ousandths.
	<i>c</i> ) 13.85					
	d) 2.057					4 marks
2.	Round these i	numbers to 2 d	ecimal place	5.		
	a) 8.662		b) 7	7.554		
	c) 75.555		d) 2	27.0808	3	4 marks
3.	Circle all the	numbers that ro	ound to 4.5	to 1 de	cimal place.	
¥	4.53 4.5	55 5.45	4.48	4.41	4.45	1 mark
4.		er cards tọ ma ı only use each		ce deci	nal number th	at is closest
		6	4 9	1	8	
	^					1 mark
5		calculator to v decimal places.		followin	g calculation	s. Round each
	a) 16.351 X	7 = 114.457		.,,,,,,,,		
	b) 22 ÷ 7 =	3.1428571429	Э			
	c) 50 ÷ 6 =	8.3333333333	3			
	d) 70 ÷ 6 =	11.66666666	6666			

## Estimating

<ul> <li>1. Find approximate answers to these</li> <li>a) 5,239 + 7,320 + 897 =</li> <li>b) 0.83 + 0.45 + 0.21 =</li> <li>c) 1,548,629 + 3,492,587 =</li> <li>d) £10 - £3.67 =</li> </ul>	Decide which place value to round to, depending on the question. Often the highest place value is best.  4 marks
Jacket£54.99	Socks£4.99 Hat£12.99 Shorts£8.99
<ul> <li>a) Connor bought a jacket, a hat and he spent.</li> <li>£</li> <li>b) Mabel bought a hat, a jacket, two Estimate how much she spent.</li> </ul>	
£	2 marks
3. A plane from London to New York to and 55 minutes. After 3 hours and approximately how long is left? hours	akes 7 hours  45 minutes,  Will sometimes tell  You what value  to round to.
	1 mark
4. Roshan is building a rectangular fe each 12.6 m long and the other to Estimate how many metres he sho	ence around his garden. Two sides are wo sides are each 7.3 m long.
m	1 mark

## Noun phrases

1. Look at the under	ilined phrases i	in these sent	tences. Are th	iey noun phra:	ses?
Tick yes or no. O	ne has been do	one for you.			

sentence	yes	no
I ate <u>a giant cream bun</u> .	1	
Laura told her mum not to drink too much coffee.		
My toothache was <u>so bad</u> I rushed straight to my dentist.		
The best thing about Kaitlin is her sense of humour.		

- 3 marks 2. Underline the noun phrases in the sentences below. Identify the nouns a) The Sloane family entered a competition first and then the words that add more detail. to go to sunny Florida. b) Nobody under 150 cm tall is allowed on this roller coaster. c) We travelled from Edinburgh to London and returned the very same day. 3 marks 3. Use the words below to complete each noun phrase. young children the flight dark not enough a) There was ..... time to catch the train. b) The worst thing about ...... was the bumpy ride. c) All adults with ..... must register at the front desk. d) The deep, ...... water reflected the bright moon and stars. 4 marks 4. Rewrite the sentences below. Expand the noun phrases with your own ideas. One has been done for you. a) The dog barked at the cat. The small, white dog barked at the watchful cat. b) Jeremiah put on his hat and walked out into the storm.
  - c) Peter knew the dog was trying to steal the pie.

2 marks

Ead a	go		Wearly	there		Malled	MTX			心神 化甲酚磺胺 法证额 装饰 医
-------	----	--	--------	-------	--	--------	-----	--	--	-------------------

## Pronouns

1.	Circle all the pronouns in the sentences below.  One has been done for you.	Pronouns replace nouns.
	a) We) were very excited to see (him).	
	b) I didn't remember who she was so I asked her.	
	c) She told me that he had not texted them about it.	
	d) He met her at the cinema and they watched a film.	4 marks
2.	. Which set of pronouns correctly completes the sentence belo	w?
	don't remember, do you? met last week.	
	Tick one.	
	I, she, We	•
	You, us, Them	
	You, me, We	
	He, me, They	
		1 mark
3	. Rewrite the second sentence in each part below, replacing t nouns with suitable pronouns. One has been done for you.	he underlined
	a) Nikolai and Pete went paintballing. <u>Nikolai</u> and <u>Pete</u> enjoyed <u>p</u>	aintballing.
	They enjoyed it.	
	b) I saw Sunil buying some chocolates at the supermarket. <u>Sunil</u> the chocolates with me.	didn't share
		•••••
	c) The tide rushed in around Adam's ankles. <u>Adam</u> ran towards as fast as <u>Adam</u> could to escape <u>the tide</u> .	higher ground
		•••••
	d) Keiko gave her dad two presents. <u>Her dad</u> said that <u>Keiko</u> v that <u>Keiko</u> spoiled <u>her dad</u> .	vas too kind and
		3 marks